
THIS DOCUMENT AND THE INFORMATION CO NTAINED THEREIN IS 

PROPRIETARY TO CARRIER CORPORATION A ND SHALL NOT BE USED

OR DISCLOSED TO OTHERS, IN WHOLE OR IN PART, WITHOUT THE
WRITTEN AUTHORIZATION OF CARRIER COR PORATION.

PRINT DISTRIBUTION

TRANSICOLD

Carrier Corporation

Syracuse, New York 13221
P.O. Box 4805

Carrier Transicold Division
UNITED
TECHNOLOGIES
CARRIER ACCEPTANCE OF CONTRACT

DOES NOT CONSTITUTE PART PERFORMANCE  OR

SUBMISSION OF THESE DRAWINGS OR DOCU MENTS

SUPERSEDES

SYM REVISION RECORD DATE BY CHK'D APP'D AUTH NO.

INSTALLATION INSTRUCTIONS
REVDRAWING NO.TITLE1 PRELIMINARY RELEASE. 3/28/03 ZMG 72N209GP03

A INITIAL RELEASE. 4/8/03 ZMG 72N209GP03

FRONT BUMPER

INSTALLATION INSTRUCTIONS:
 

NOTICE:
 
ON UNITS EQUIPPED WITH BOTTOM PANEL. INSTALLATION OF ITEM 5 (1/4-20 RIVNUT) AND ITEM 8
(5/16 WASHER) IS NOT REQUIRED.
 
ON UNITS WITHOUT BOTTOM PANEL. REMOVE PLUGS FROM LOWER CURBSIDE FRAME MEMBER AND 
INSTALL ITEM 5 (RIVNUT) INTO FRAME HOLES PRIOR TO INSTALLING BUMBER. THEN POSITION 
ITEM 8 (5/16 WASHER) BETWEEN FRAME AND BUMPER MOUNTING ANGLE AS SHOWN.
 

BUMPER TO UNIT:
 
1. LOOSLEY INSTALL BUMPER ONTO FRAME USING ITEM 3 (1/2-13 BOLTS), ITEM 2 (1/2 WASHERS)
   AND ITEM 1 (1/2-13 LOCK NUTS) TO FRAME MOUNTING ANGLES. DO NOT TIGHTEN.
 
2. ALIGN HOLES IN BUMPER AND MICROBUMPER AND LOOSLEY INSTALL HARDWARE.
 
3. OPEN CURBSIDE DOOR AND INSTALL ITEM 4 (1/4-20 BOLTS) ON MOUNTING TAB OF BUMPER.
 
4. TORQUE HARDWARE AS FOLLOWS.
   1/4 BOLTS  15 FT/LBS
   1/2 BOLTS  65 FT/LBS
   6 mm SCREWS  7-9 FT/LBS

B PICTORIALLY UPDATED IT.6. 11/11/03 ZMG 72N227GP03

C PICTORIALLY UPDATED IT.6.
AUG 24,
2004

ZMG 72N224GP04

D ADDED ITEMS 9,10,11, &12; ADDED VIEWS FOR -01 08NOV2010 RS 72N0088P10

D
SHEET 1 OF 1

98-03230
1 PRELIMINARY RELEASE.

CTD PART NO. DESCRIPTION

98-03230-00 BUMPER KIT STD.

98-03230-01 BUMPER KIT W/STANDBY BRACKET

-01 ONLY

-01 ONLY

SCALE  0.250

DISCARD STANDBY MOUNTING HARDWARE
SUPPLIED WITH UNIT MOUNTING PAKAGE
KIT AND USE HARDWARE SUPPLIED WITH
BUMPER KIT W/STANDBY BRACKET.

STANDBY RECEPTACLE SUPPLIED WITH
UNIT - REFERENCE

SCALE  0.250

USE BUMPER MOUNTING HARDWARE TO
MOUNT STANDBY BRACKET.


	Sheet 1
	Views
	main_view
	new_view_6
	new_view_8
	new_view_9



